
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly
7/18/25

JWL-1840EVS Controller Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly
7/18/25

Description

Index
Number Part Number Description Size Qty

1 JWL1640EVS-201 Knob  1

2 JWL1640EVS-202 Access Door (With Magnets)  1

3 TS-2248252 Socket Head Button Screw M8-1.25Px25 1

4 LM000171 Speed Label  1

5 JWL1640EVS-205 Pin  1

6 JWL1640EVS-206 Hinge  1

7 JWL1640EVS-207 O- Ring  1

8 TS-0253031 Socket Head Button Screw #10-24x1/2” 4

9 JWL1640EVS-160 Pan Head Screw #10-24x1” 1

10 JWL1640EVS-CA Controller Assembly (includes #11 thru
23)  1

11 JWL1642-143 Variable Speed Knob  1

12 LM000066 Control Panel Label  1

13 JWL1640EVS-213 Main Switch  1

14 JWL1640EVS-214 Control Front Cover (includes #12)  1

15 4224B-148 Switch Fwd/Rev  1

16 6295915 Control Pot Assembly  1

17 JWL1640EVS-217 PC Board  1

18 JWL1640EVS-218 Back Box  1

19 JWL1221VS-320 Strain Relief  1

20 JWL1640EVS-220 Signal Cord (inverter to control box)  1

21 JWL1640EVS-221 Connection Cord (Spindle Sensor to PC
board)  1

22 TS-2284082 Machine Screw M4x8 4

23 TS-2171012 Machine Screw M4x6 4

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly
7/18/25

Additional Information

Stock Number 719600-2

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwl-1840evs-controller-assembly

